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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test in the Manual of

Name of the Firemanship for Officers of Tamil Nadu Fire and

Test: Rescue Services - Second paper (Without 059
books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QEmen@GM euems NS Gmer

Read the following instructions carefully before beginning to answer the
questions.

lemésEpsHE aNoLWeN&ses ASTLRIGD (6T SD&sEIL ibe|misamens
SHEUATONSL LG &H&6LD.

L.

This computer based Test contains 100 number of questions in objective
Type.
Qhss semilel aufls Coieurargl, 100 QaTai@M susmauNeorsr eNeamTéHsemend

Cl&mETuTL_ &),

Answer all questions. Each question carries one mark
Simed s T ERHGL el WwWellssad aQaurm elamed
LOSIICILIGTT 2 ML LLIG)

In case of doubt, English version is the Final.
alerésafley #bCGaaL @EmUildr R augalld QAHTHESILL [Hemen
ANeTsEGen Qmilimen g

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qs eNermssened QLD QubmieTen guewm LTEO6SH&euflsil QUMiTSHem&&eflen
CHmeuliLIg e,  HWEISCHHU  Qust LTS Heuflell  CUTTEHEME8EHLD
SILhIGLD

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

allememuugmyiser setllefl aufls CaielnE el weéss O&TLRiEGLD
W seflellullesr  Hevgulled Cameaimid  SMleUDIBEDET  HEUGTLOTEL
Ulg $SHLD.

a) One question will be displayed on the screen at a time.

@6 Gprsded @ elearm LWL ECWL safald Hapullsd Camemb.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



S

Which one of the following knot used in rope testing?
Gemeupid (P éasaie sulpasamer LNGCFTsmer Gewiu LweTuBID

(A) Reef Knot (B) Rolling Hitch
L B Crmedlm @&

Draw Hitch

g7 @&

Flmh(l Hitch (D)
g LD LI \@)1‘_J

.

Melting point of Mercury
ois@Nuler (LTgrED) 2 (HEh DeuliLiblene

p(j _37°F (B) —675°F

(C) 3567°F (D) —-60°F

Which of the following sentence is true?
Qeneumid eunsflumisafler erg sflwumeng ?

W Lead is a gray metal (B)

Lead is white metal

sriwl @ enbud o Garsh srifwb g Ceuanen 2 Gan
(C) Melting point of lead 1s 300°F (D) Lead is a light metal

srfwsdear 2 (pGHeae 300°F sriwid g Cogrer

What is the colour of copper metal?
STLIUM 2 fgc.»olwﬁ;gﬁ"(;b: himLb ereres ?

#7 Red

(A) White

GL1 GUOT &%) LD HeuliLy
(C) Black (D) Violet
.fl;.gj);' | DENE T

Which of the following metal hav mw high elec tlu 11 conductivity?
Qemeumid 2 Cansnseie <idls blaersas &L5gILb Hmerr GaTetrLg) ?
ﬂ Copper (B) Gold
Sl SMldLD
(C) Silver (D) Sodium
GeueTefl (_orf?m"‘ LD

y ',L' TR D
g &G Tl

&LD

s (RPAasmaa)f
D LeDT&HLD
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6. What is the Chemical formula for Calcium Carbides?
srodlwub srienul @rrewarsder @GaslTn erermer?

(A) CaOCl (B) CaCN:
@ CaCe (D) CCly

7. What is the Marsh Gas?
wrrevCaey 6TETLS eTeme ?

(A) Acetiline M Methene
<81 1q.60etr BsCa e

(C) Methyl Acetene (D) Glycerine
Bsansdd 28l CLen Seflg e

8. Liquid metals is
frau 2 Caorsld ererLig)

(A) Sodium (B) Potassium
Gamguwib Qum_Lrfluib
(C) Aluminium W Mercury
gy Bleflwiib Qg

9. Laughing gas is
ANy G\ eumu| ererug)

(A) nitro benzene W nitrous oxide
eopLl Gy Quieélesr ®BLTEN LE@av([H
(C) calcium carbide (D) pyridine
sTOSwd smienu () enuifliq et

10. The Radioactive materials is unit measured by
Gria G sdielés saflorsed Spaam seTasetla setellLLGEDS

Curie (B) RAD
Syy M <2,7.67.1q.

(C) Roentgen (D) Gamma particles
TITeTL_gRehT SMom && &6
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K.

12.

13.

14.

What is the minimum Flash point of Fats?

Qamepuiy Genbsul e § upm Hlaewrarg ?

(A) 100°C (B) 150°C
240°C (D) 500°C

APU — Abbreviate the Aircraft name
APU - arenrugetr affloungsid

@ Auxiliary Power Unit (B) Addition Production Unit
glanemwr LOleh Die(& s (Hse 2 Huss Gfley

(C) Auxiliary Production Unit (D) Additional Power Unit
govenr 2 HuGE Gfley (g6 e e

Combustion Range of petrol gas in air

srhdléd Qui Grré eumyeller erilge sieme erebren ?

P 1% t06.5% (B) 10% to 65%
(C) 1.5% to 6% (D) 1.5% to 5.5%

The radioactive materials as possible as in the fire fighting — below the statement
as good as safe
sHNwss QUL sar Bg Swmanssed sowniseila-Spse saphmisaiier ergl sfluinang
(i) It is always preferable to use spray nozzle
Qzefiliy @pener prélesener LWeTUH SIS
(ii) Cooling down operation
@elliellggse CQeudsmar Celige
(iii) Immediate Salvage operation should be undertake
2 L anlg FTGeugy Gauisd
(iv) Avoid the undue the disturbance of debris
Havgepp sfleysmer LUDLULHSSM S6TlTEHe

(A) (1) and (ii) are correct W/ (1), (ii) and (iv) are correct
() wpmd (1) & 1), (i1) wHmbd (1v) pHweras il
(C)  (ii1) is only correct (D) All of these correct
(ii1) wi_Hid & Serdg b &l
5 030/DM/22
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15.  Following “Metal” also be stored under inert gases?
Spssar_ o Corsnsaild ag whs aryssaia Csllss massiu@dng ?

(A) Potassium d Sodium
QUi réluib Cgmiguib

(C) Zinc (D) Manganese
&ISSHTED OIS 6%

16.  Petroleum products like class (A), class (B) and class (C) as a whole are classified
based on
Qur_Crredlw Qumgsrasemmer class (A), class (B) and class (C) @aves siearggid ergen
S LiueLuiled euanasliu@EsuUEE DS

(A) Fire point ﬂ Flash point
5 Liaraf Soupy Hae

(C) Vapour point (D) None of the above
Byred Lerafl @de ergiedldbena

17.  Which one of the following Acid has low Specific Gravity?
Spsar sflonsald Gapbs GHUECL yeluliiy e.amw bflen ag)?

(A) Nitric Acid (B) Picric Acid
aplflé sl Gafé gdll
(C)  Sulphuric Acid @ Hydrocholoric Acid (HCI)
s 9y s o8 want CrreGermis <ydl (HCL)

18.  Fire Zone No.3 Shall be designated as follows
Fire Zone 3-6 2. 6rem &Ligl QUeNSSET

@7 Group-G3, Group-H, Group-d

(B)  Group-E2 to E5, Group-G1,G2
(C)  Group-A, Group-B, Group-C, Group-D, Group-E1, Group-F
(D) None of these above

030/DM/22 6



19.

20.

21.

22.

23.

What Purpose is Blood Knof used in the Fire Service?
aranan snjansSnans Blood Knof Sueenriiy gieopuieds uweru (& ng

(A) Making up of a Long Line (B) Making up of a Short Line
Bar sulpseer o (HeuTés GLdL&5NSOET 2 (HeuTds

(C) Making up of a Escape Line @7 Making up of a Belt Line
sliLel&@b sulpisemer e (heunés s&as sUNSMET 2 (HheuTss

Which one of the following not happens in case of a short circuits?
Ner GmisE Lmiéseer Gurg @eaausafla arg perL QupmoaHEELD ?
(A) Current flow deviated from normal part to quicker return path
ey @uidunar UL sHalmbg Wer Smuubd ghuBd
(B) Break down of insulations
sriurenser (Insulates) Qewd @ wbgeNE W0
(C) Lead to an outbreak of fire
§ lugg gpuB WL

M Steady flow of current between two conductors
sLgdeEnsE Qe Gw Frmen Wersmyb LM

Gun Powder is a mixture of
ser Lia|L T 0&&T eremLig)

M Salt Petre, Sulphur and Charcoal (B) Nitrates, Sulphur, Fulminares

Freol_SULfr, gduir wHmid & enpL G, gdui, udwarGrey
(C)  Salt Petre, Sulphur, Nitrates (D) Nitrates, Fulminares, Sulphur
gmeol 5L, sdum enpl Griev @pLCrie, udwearGrev, gL

“PTFE” stands for
“PTFE” aflfleurésid

M( Poly Tetra Fluro Ethylene (B) Poly Tetra Fluro Ethyl alcohol
(C) Poly Tetra Fluro Ethane (D) Poly Tetra Fiber Ethylene
Latex is a
CarL_&ev eremLig)
(A)  Gums V Rubber

Lieng LT
(C) Paint (D) Varnish

Quufer_ QUTTTET 6L

7 030/DM/22

[Turn over



24.  Which one of the following is not protective clothing?
Getreu(HeuaraubmIeT eTg LMGSTUIL] 2 el a6 ?

(A)  helmet (B) gloves
SEEHEUFLD D&MD

(C) boots M rope
STQIEND sy

25. Match the following and choose the correct answer from the codes given below
Epsan_aupen Qurpss, sflunear eflenemw NG sl mhg CaThds® ?

(a) Hydro Chloric Acid 1. C,H,
@anl Gyr @Carrflé ibled

(b)  Hydro Fluoric Acid 2. H,0,
eanl Grm Liepfls ibled

(c)  Hydrogen Peroxide 3. HCI
eanL_jgear Qurrsamen(®

(d) Ethylene 4. HF
Tl eden

(a) b) () (d)

A 3 1 4 2
@ 3 4 g 1
(C) 38 2 i 4
D) 4 3 1 2

26.  Which is one wrong?
geuprer gearep s [ Uiy &sa| b

M wool (B) hemp

sbuefl Fenred
(C) flax (D) kapok
2l @aaud LEs

030/DM/22 8



217.

28.

29.

30.

Match the following :
Qesreu(peuaraupenp GLIM(BSSIS

(a) silk 1. Plastics
UL (B Germevigd
(b)  cotton 2.  Synthetic fibres
LSS Qswiphens e pser
(¢)  cellulose acetate 3. Animal fibres
QeegyCeaman HGL L e GenLpaer
(d) terylene 4. Vegitable fibres
@L_MeSebr smu&H @enpaer

(a) (b) (©) (d)

(A) 3 1 4 2

(B) 3 4 1 2

gr 4 3 2 1

D) 2 4 1 3

Rayon is a

Grumerr ererLg)

(A) animal fibre (B) synthetic fibre
eflevmi B Spss @

V artificial silk (D) natural fibre
Qewmpens UL Qupens @eip

Which metal is used for batteries?
ahg 2 Carsd Gui i Msafled LweruHésiiubhdEmg ?

(A) aluminium @ lead
<@ Bleflwib FFWILD

(C) cobalt (D) 1ron
GamumedL @ (mbLy

Paraffin wax i1s a
unyenr Qop@ ererug

(A) animal fibre (B) synthetic fibre
eflewri@ i Sbglg s e
(C) animal wax ergetable wax
efevriu@ QWG smisd Qe
9 030/DM/22
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L ]

31. Fat and waxes are
Qampuiy whmib Gwwe eaariubeg
M Carbon, Hydrogen and Oxygen
ST, enanL Tamer HMHID sedlggen
(B) Carbon, Oxygen and Soap
sriruer, sybadlger whmib Gemiy
(C) Carbon, Hydrogen and Soap
sriUeT, eanl qmer whmib Gemiy
(D) None of these
Cunhsear_ gga|bdloae

32. Butterisa
Qeuarenest 6remLIg)

(A) vegetable fat @ animal fat
srusH Qarepiy evmi@ Qampliy

(C) vegetable wax (D) animal wax
srlsh Q@ efleuri@ QP

33. Chemical formula for Nitric Acid
aprNé sifeosdar Caudulwd GHlUE
@ HNO; (B) N:0
(C) CHaCl (D) CH3;OH

34. What is Cyclone?
ane&GaTe eTETLIS GTeHen ?

Water and climate related disaster

Bir wpmib srwflew Ggriurer Guyfley
(B) Man Made disaster

weaflsarme o (peundlern Guifle,
(C) Chemical disaster

@uremwer Guyley

(D) Biological disaster
2 Wiwe Curfey

030/DM/22 10



35.

36.

37.

Rail accident is a
@ruier eNuibg eresLIg)
(A) natural disaster
@Qupes Curfe,
(C) chemical disaster
@remwer Guirfley

@7 man-made disaster
wefllgearmme o meursdlearn Curley

(D) biological disaster
o WWflwe Curey

Match the following and choose the correct answer from the Earthquake and date

given below

Spsar_apop Qurksd, sflurer doLaw GCsipbdsh? LebULD pen@Qupm @b

DHmMILD BITET
(a) Bhu
beR
(b)  Greet Sumthra
SCrL &gTT
(c) Latur
QVSGNT
(d) Sikkim
H&dlb

(a) (b) (0 (d)

A 1 2 3 4
B) 4 3 2 1
@& 2 3 4 1
(D) 4 2 1 3

Land slide 1s a
Bevsefla) erarig

(A) Water and Climate disaster
Bt whmid sreBflae Gurflel

M Geological disaster
yaNuiwed Gurpley

1. 14.02.2006
2. 26.01.2001
3. 26.12.2004

4.  30.09.1993

(B) Biological disaster
2 1 MNwed Cuiyley

(D) Chemical disaster
@rerwaredwe Gurey

11 030/DM/22
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38. Urea is made from
wlwr edef@mhg 2 (HaunssiuBEDg)

W CO2 Synthetic Ammonia (B) SO: and Synthetic Ammonia
COz wpmib Qewhens bGuoreflum SOz whHmd Gewphens bCwreflw
(C) NOg2 and Synthetic Ammonia (D) COzand SO2
NOz whmib Qewhens 2ibGuoreflwm COz wpmid SO2

39. NDMA Abbreviation
NDMA & fNeunssibd

(A) National Disaster Management Agencies
(B) National Institute of Disaster Management
@7 National Disaster Management Authority
(D) National Disaster Mitigation Authority

40.  Which one of the following is chemical disaster?
YGereupeuareupmier ergl @remwer Guyfley?

(A) mine collapse (B) heat wave
&g &6y QeuliL e

(C) avalanche @ nuclear radiation
vafluurenn sfeyser sign sflireiss

41. Disaster Risk is
Curey uss LG

(A) hazard + risk M hazard + vulnerability
i@ + LSS Sng + undliy

(C)  vulnerability + risk (D) vulnerability + disaster
urdliy + USE urdluy + Gurley

030/DM/22 12



43.

44.

o

Which of the Statement given above is / are correct?
Gereumeuamaupmier flwimarens CeTHESE .

(1)
(1)
(iii)

(©)

disaster preparedness frame work is planning
Gurfleys surmiL@sse Siib HrblliLg
disaster preparedness education and training
Cureys sUMTLILESS® S L1b s06l wHb LWIHE
disaster preparedness resource base

Cuyfleys swMTiILEESD S LD QUaTD FDIHSLOTETS)

all are correct (B) (), (i1) only correct
andg b sflureang) (1), (1) w b sfwunerg
(1), (ii1) only correct (D) (ii) only correct

(1), (1i1) b sNwreang) (i1) wi @b sflwurerg

Find the odd man out?
Epanamuareupmier QurBEsLHP®EE GHUEGHS

(A)

(©)

floods (B) cyclone
@eugTerid @Dmeu
avalanches @ food poisoning

ueflsata] o GG HEHETSHED

Forest fire 1s
sT_(H& & eremug)

(A)

(€)

natural disaster 7 man-made disaster
Ques Curfey weflsamme ghupssiuL Gurfley
biological disaster (D) chemical disaster
2 WWflwe CurPey @remwer Guyle
13 030/DM/22
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45.  Consider the following pairs
Gereumeuareuhmer @eanaaamar smaHed Gamer

L Virus related —  biological disaster
GGGV FLDLDHSLDTEN) 2 Wilwe Gurey

II.  Toxic gases - chemical disaster
BFG QUTIL&SSET @rerwer Curdey

III. Hurricanes —  water and climate disaster
@nmeuafl B wHmib sreBlee Gurfe;

Which of the following fair given above is/are correct?

CuhENudlL Qameansald g sfwreang ?

(A) Tonly (B) I, II only
I b I, 1T o @w
(C) I, 1II only W All are correct
L, IIT o @b Sangg b shlunearg,

46.  Which is wrongly matched?
seupnar QUTHESSMSE S B9y &sa D

(A) Black Wall Hitch = used to make a rope fast to a hook for
a short haul
Qerré eumed @)L & gm sWpeop &s099 gherdlswrs
Qgrisei LweaTu(E DS
(B) Catspaw —  used for attaching a line to a hook
Calavum Qarsdludied sWlherm G nenés
vweru &g
(C) Sheep Shank - used for a line temporarily without
cutting it
Sliagmm ghanedlanrs  sllpeop  GeulLmoe
G@D&Es LweruHEDg
Fisherman Bend's —  used for irregular object
GeigamGLoer Gl prabn sTEPILTer CluT@haer &g

Qués LweTLHEDg

47 Which one of the following knots used in two ropes or lines of equal thickness?
Qerau(mHid (pig&&aeild §0 a1 BjaTaeTeT SUnsmer Gamenésts LWL (pgés e ?

Reef Knot (B) Single sheet bend

L Bl Aragar & Quen()
(C) Sheep Shank (D) Bowline

£ eyl Queraneven

030/DM/22 14



48.

49.

50.

L

Which one of the following used in splicing?
Qemeupeuareupmer splicing argh@ LwerLEEsULOEDS ?

(’{ used to join lines
slnsmer @eanss LU bHSDg

(B) used to join appliances
D LISTENTRIGENET [B)6nanTéhs:
(C) used to joined the objects
QummL_samer @eaiiughHE LWL & Dng

(D) used to joined hooks
Qarédsemer @aauéss LweTLHE DS

Which one of the following used in Slings?
Qeésraumeuameupmidr evadmalled ereh@ LweTLB DS ?

(A) used to join lines
MEOETEMET ) enenTés

(B) used to join appliances
> LisTaRTAS@eT @eands LS Dg

used to secure the objects to be moved
QummL_seneT B&TESISDE

(D) none of these
@eundled ergblerened

Which one of the following used in blocks and tackle?
QaeumeuaraupBe blocks whmib trackle ergh@ LweTuREsLUG Slepen ?
M used to move a large weight over a short distance

e Afu gsdpe e Quilu aamLmu paiés LweruREsLUGE DS

(B) used to join lines
@aeTsmeT @aeards LU DS

(C) used to joined special equipment
APy 2 USTETRIGEET @) eanédL] vwerU(hssuuBEng

(D) used to strengthen two or more ladders
Bran® sovwg sHE CopulL geflowu agiubss LweruR & pal

15 030/DM/22
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51.  Which one of the following is salvage equipment?
Gereu(meuameupmer @G g Lo o LsTamd 6rg) 2
(A) cutter axes
SULIT Gamrm
(C) extinguishers (D) helmet
& enemtiiLImeD BHEOVEGUFLD
52. Dollies are
Lmedlav ererLig) ?
(A) special equipment (B) hydraulic equipment
Sy o ugyewTD @anL_JTeld 2 L& e h&ET
(97 salvage equipment (D) fire equipment
greGeugy 2 LisTeDd & o Ly D
53. Identify the mismatch :
sauprar QuIhsssmss &[0 dseD
(A)  Sodium Sulphide used in rayon mfg
Gemgwib sGUL Grwimer o HusHuded
LweTLRSsILGEDS
(B) Sulphur used in making sulphuric acid
FOLIT sl s ofan suriés
LweruBEsLURE DS
(C)  Sodium Chlorate used for bleaching textiles and paper
Gamgwib @&Germeny( gLl sajafl wHMD HTESD GauEELLEHSTS
Lweru®SsLB &g
M Sodium Nitrate used in the mfg of plastics
Gemguib enpl G Qerrevigd swimfles
vweTuSsLILGE DS
54. Which one of the following chemicals used in mfg of matches?

Qemaumeuareupmier Se@#8 surisgedler LwaLESsULED Qremweand el ?

(©)

030/DM/22

Phosphorus (B)
LImeuLIFen

Sodium (D)
Gemgwib

16

Potassium
Qum_Lr&lwib

Sulphur

Feourm



56.

o7.

58.

59.

4

Rubber factories a special moulding lubricant called
@ruuir Asmfperaauie Apliy aigamngseld WweE et eeamig)

(A) solvent
e euen_

@' face mol

Cuev Gumed

Resins are in general secretion products from
G enaer QuTgeuTs eThg QummLsefle o ererer?

M plants and trees
STEUIRIGET WHMID LDYHISET

(C) vegetable fat
sTwsH Qampliy

Aviation accident 1s a
eflwrer eflusg eraTLg)

man made disaster
welgearmd 2 (heurar Gure

(C) chemical disaster
@remwer Gurdey

RDX is a

RDX eretrug

(y explosive
Geugiklummer

(C) heat wave
Qeuliu Hemen

Harbour wave 1s a
Harbour Geusu ereruigy

(A) heat wave
QauliL ienew

(C) cyclone
@mreuer]

B)

D)

(B)

D)

(B)

D)

(B)

D)

(B)

rubber dust

@ruur gré
petroleum Naptha
QuL Cyredwid BrigT

animal fat
e Gamupuyy

latex
OJLUITED

natural disaster
Qupens Cure]

biological disaster
2 i flwed Cufley

medicine
D(HHG!

pest attacks
LL&& Q&meved

avalanches
vefl&sflay

tsunami
Farmhl

030/DM/22
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60. When did Kumbakonam School faced fire accident?
GwLUGsTemd Ldreflulier ghur L § elugg auGung ?

(A)  22.02.2006 & 16.07.2004
()  26.12.2004 (D) 26.01.2001

61. Which one of the following knots used to identify a damages or burst length of hose?
Qereupld (péasaild LpsmLps Bif NG GRTUSEMET L WITETLD &6 Lweru @b

(A) Reef Knot (B) Figure of eight knot
L Bt Qe gy Quit B
@7 Over hand knot (D) Clove hitch
Geuil anmeRTl. B Henereu @)U &

62. Anthracite is a
DHSTTENEFL CTEITLIG| GTEe ?

(A) fibre (B) wax
coERLILIT AT

ﬁ( coal (D) solid fat
Hledaf A Gamupiy

63.  Flash point of the petroleum spirit
Qur Crredwid pellwngeler upm Hlene eramer?

& -50°F (B) —40°F
(C) -75°F (D) -100°F

64. Nitro Glycerine 1s a
apl Crr deflefler ererug

(A) Paint (B) Resin
Quuilar GQyélesr

(C) Plastic Explosive
Qermeniq & Qeulg QumgperT

030/DM/22 18



66.

67.

68.

What is the flash point of fats?
Fat-ér upm Hlevew eree ?

@ 240°C
(C) 464°C

HPC Means for
HPC &8 fMeunssbd

@ High Power Committee
(C) High Power Categorize

Oils and Spirits are
craT@emrul wHmib ev il ererLg)
(A) Inflammable Solid
erafifled erMwidamiqw L Qurmar
W Inflammable Liquids

erafifld erflwdaniqw Sreurise

What is use of volt meter?
Goumevl B L_Merr Lwerm(p) eresren ?

(B)
D)

(B)
D)

(B)

(D)

(A) Instrument used for Measuring circuit
WBletr @néE LmiFgme areil(eusn@ Lweru®dmg

9)/ Instrument used for Measuring voltage

300°C
500°C

High Power Chairmanship
High Power Civil Defense

Inflammable gases
aafifler erflwdamiqur eumysser

Inflammable Metals
creflfler erflwideniqu 2 Gamsiigser

Neranpsssams seraleugneE LwearuOéng

(C) Instrument used for Measuring flow of milk
unedlar Siarene aTedlHeughE LweruBHEpg

(D)  Instrument used for Measuring water flow

B @l Lsams saalPeugh@ LweLGHng

19
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69. Rectifierisa
Rectifier eremuigy

@ Used for converting A.C to D.C

A.C Wl D.C 6@ wrppeugheE LweatuOEng
(B) Used for converting D.C 9eS(mpg A.C

D.C Wef\(mig A.C &@ wippeusH@ LweauGSDg
(C) Used for converting P.C to N.C

P.C ¥elmpg N.C s wrppeisne LwearuBEps
(D) Used for Measuring Current

o Wit ferenpsssams erell LweL g

70.  Which is one of the following is protective clothing?
etrau(peuaTeUDHMIET LMSISTLIL 26Dl 615l ?

(A) Hose (B) Foam
BrellB@pmu )

M Helmet (D) Extinguisher
BHEHEUFLD SuwianemrIL mesT

71. These Heavy oils flash point ranging from
serorer erarCeariisailen Lerreay LjeTall eree ?
(A) 150° F to 200°F (B) —50° F to —40°F
r 200°F to 500°F (D) 150°F to 175°F

72.  The Generating station to the current is transmitted by
BerCGerm L fHamowsdd BaGamiLjoms sLs5050E pwearu(eugl 6rg)?

7~ Cable (B) PVC
Gs\9er PVC

(C) Insulator (D) Feeders
GeraGeavl_Lfr SolIL 16
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High voltage conductors called the
o Wit ean(pss HLSE &6 eramg)

(A) Generators (B) Switches
QeganGyi Felll_&aer
(C) Feeders @ Grid
Ll eranLiq &eiT SL_L_MISET

Jet fuel should be treated as
Qg erflu@umper erar smaLILHUG 6Tl ?

(A) Coal M Petrol

Bl Qur_Gymed
(C) Diesel oil (D) Kerosone
le &6 6resar ey Lo &gt ol et 68T (ol G 1L

Which one of the following is electrical safety equipment?
GeraumeuareupmeT WeTsmy LTGSTIL ETSETD 6T ?

(A) Iron Sheet (B) Copper Sheet
@)(mibL seT Smdly ST
Rubber Gloves (D) Aluminium Sheet
@ruut eswenn sigdlaflwb grer

A Unit of Electrical Resistance
Blerr senL_ullen i@ gl ?

(A) \éolt N (B) Watt
euUTEL. QuITL_

(C) Ampere @» Ohm
< Gw @b

Which one of the following machine converts Mechanical energy into electrical

energy?
Qeraumauaaupmiar @uibdlT @pbpeme WaTamHHOTs LIHNIGIS 6TE)?

(A) Transformer Generator
Blesr mmH) QegenGryL i
(C) Ammeter (D) Volt Meter
bl L Gaumeb (BL_Lir
21 030/DM/22
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78.  Asbestos ‘gauntlets' is a

< EVEQUEVLTEV SHTERT6lL e GTemlgl ¢(h

o

Protective Clothing
UMGISTUL SLenL

(C) Extinguishing Media
var_sgang CeualCuhmige
79. Lavenderisa

GUITELIETITL_T GTEATLIG)

(A)

P

Mineral oils
FHen b 6T ator ol ewr U SET

Essential oils
gHuneuflu erarClemTiiger

80. Crudeoilisa
G&GT GTETOlENT CTETLIG)

(A)

(©€)

Fixed oils
Blenewirer erarlarmugeT

Animal oils
efevriis, erair@lemTiseT

B)

)

B)

D)

B)

Dry powder
2 QIT DTG

Aireraft Engine
eflrer @ubS b

Fixed oils
Benewiran ereir(lewriiger

Industrial Solvent
Camplogienm eyl mer

Essential oils
S wmeudlus eretorQenTsaT

Mineral oils
saflo erasrlenriigser

81. Which one of the following gas has wide range of flammability?
Spsan_ aumyssailer oifs ureuerar Suuppblae 2 eLw eumy eg?

(A)

&

Propane
yGrmuGuelr

Acetelene
<& L eSlebr

(B)

(D)

Butane
Ay Gretr

Colourless gas
3Guoreflwim

82.  Which one of the following is not soluble in water?

s aupmidr gamatie soquTgs g ?

(A)

(©)

030/DM/22

Chlorates
&CernGrev

Butyl Alcohol
Ayl L6 BsaDTe

(B)

CO,
STTLIGH - 0L -24,&e0 6 (h)



83.

84.

86.

87

What is the melting Point of Arsine?
gy iflaflen o (m@Hlene ereman?

y( ~116°C

(C) -170°C

Boiling Point of Barium
Cuflwb Qardblene eremen?

(A)  1000°C
(C)  1500°C

(B)
(D)

-150°C
—180°C

@7 1140°C

D)

1740°C

Which one of the chemical is also known as coal Naphtha?
Spsar_eupmer erps @remwand “Coal Naphtha” erénp sianpésiubEng 2

(C) Bromine
LCrymeninest

Benzine is also known as
Quenfer ereuauT S@WP&E&LILHEDS)?

(A) Benzole
QuenGamey

Petroleum Ether
Qui Crmedlwibd m&s T

(B)

(D)

(B)

D)

Benzine
QueTen e

Butadiene
QL menL_uSebr

Coal naphtha
Camed prigm

None of the above
@anmer ggibldee

What chemical is extensively used in synthetic Rubber industry?
Qewpers @i Qsmfihgiempuiier arhg @remuend LTINS vwerLHssuuGEng ?

(A) Bromine
LGrymep et

(C) Petroleum Ether
Qui Grrellwid rEsi

)

(D)

Butadiene
L'ng'_l_rrsm_uﬁsm

None of the above
@aupmier ggibldenea

030/DM/22
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88.

89.

91.

92.

What is the limits of flammability of Hydrogen?
eanl_yefenr SLupmib euTby gl ?

W 41to74 (B) 10 to 30
(C) 20to 30 (D) 30 to 50

What is the Specific Gravity of Mercury?
ungresSen @Al L Ledluiriy

A 1 (B) 10.6

p)’ 13.6 D) 16

Which one of the following acid is called 'Quick Silver'?
Epseaneupmier '‘Quick Silver' eremy sempdsiiLi(loug)?

(A) Nitric Acid @ Mercury
aplfé e UMgy&LD
(C)  Sulphuric Acid (D) Hydrochloric Acid

g, Mé jbleb

@anL Grm@Carmilé =jblewd

Which one of the room is used to deal with the receipt of emergency calls?
SeuUET Si@PUILEET Qumib DemDEE, gCsaid @ Simp LwaTUOHSsLLGE DS

(A) Common room
Qurgairer iem

Control room
sU_(Huurl(p enm

(C) Center room (D) Watching room
ELDUI DD Sopuild s1HHHES
Approximate speed of aircraft is
eflonend & Lgl L Geusorarg)
(A) 100 kmph (B) 200 kmph
100 4.8 200 &..8
("5 300 kmph 1000 kmph
300 .15 Vv 1000 £..8

030/DM/22

24



93.

94.

95.

96.

What is the Rate of flame spread of “Autur”?
“Autur”-er § seurened LITaD eNdlgD erear?

(A)

(©)

35 m/min or less 30 m/min or less
35 B/HOLD (3)) ASHESD G®Da 30 B/ALD (3)) SBHGSD G®dDa|
45 m/min or less (D) 50 m/min or less
45 B/HIOLD (=) SSHGD GO 50 B/FIALID () ABHGD GH@De

The Frame of the Ship is Known as
sliLelen sl Lgdlem QL eretmer ?

(A)

@

Hold (B) Hell
Qe ()
Hull (D) Hatch
Qe QD&

Class “C” type of oil storage cylinder has
faermav “C” cuans <puler Calliiy o (pener Qamiiy

(A)

17
(©)

D)

has Floating roof
Bg&@Ebh sanrer C&Tem@eTerg)

has atmospheric vents

auaflnarr_e sTHCHTLLms QubmieTars)

has Pressure fixed roof

Si(pSBLILLL Havuwirear saegenw Gamain(eTang)

has flash point of below 22.8 degree Celsius
22.8 4 Hfl QaodlussEb Goparear Wermey LeTaflanws Canem@HeTarg

What is Pitch?
Pitch ereirmmed erebrent 2

(A)

(B)

D)

Distance between two wings of Aircraft

Awrarsder @ BDGsEhsE Qe Cuuwner gy

Distance between two fuel tank of Aircraft

Awragder Gren® erf@Qunper Cafluy AulsEnseE oL Guuner gryd
Distance between corresponding points of adjacent seats

20550568 @Lmasaflar QgriiyeLw Lerafladr

Distance between head and tail of the Aircraft
arersden see LHMID und LEGHSEREE @ Guwner g

25 030/DM/22
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o5,

98.

99.

Escape slider or chutes normally provided in which part of Aircraft
Awrergder Qungeuns aps LGHuID Escape slider or chutes Gunmésiiul g (héGh
(A) Pilot cabin

eforar gL iguler SepliLGuded

M At doors and emergency exits
s&6a &6 HmIb Seurs auflliugdsafle

(C) Wings
G péamsser
(D)  Windows
556 &ET

A fire existing bulkhead, usually between an engine and the remember of the
fuselage or wing of the Aircraft called as

Aorasder @eagder Suuppd Howwld s wpp uGHsaar aflGurmedr Gewliy
QUL iy HYID @PEmeser BmasEhsE GoL Guwnar LGS ey S p&aliLBEng

(A) flap (B) fin
L OUEGS EACWINE: o)
fire wall (D) none of the above
$&50H\Y Heult @ eeusafie argea|slerene

What is Bracing?
Bracing cremmmed erebmen ?

(A) removal of the grass in the forest
LHSEmET H&HMIGQ

(B) removal of the trees in the forest
DY RIGENET H{&HDMISE

(C) removal of bushes
LS TEENET HEDHMISE

M removal of branches of trees
wysden S o drer E@ETEMET HHHHNISED

100. Disaster Management Act exactly on

Csflw GuilLi Cueorarenn &L b 2 (HeUMESILL L BITET

y{ 23 Dec 2005 (B) 23 Dec 2006
(C) 23 dJan 2005 (D) 23 Jan 2006
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